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Question Id : 9209065362 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

U TR 1 UgehR 1 faU gU usl & IR I

e UEX o Fdl & fHIR W &1 gofl ¢, foret ure 98l § SR Ul TER1l g d¢ &
Fde M SR T 981 # H1H1 UFl T64 & SR, d<d U [Aund d<ang i g1 981 I
Ydhs] el TA-STd ¢ SR g2 U 394 TR R A4l § R TXa! &1 oiifd HIH eidl & | Tal
T gedt 1 gt fe=msil &1 |Te it € SR 98l A SH1al § | Tva adl STRdF ®f HioH Jrdt
&1 dgd Y1 4 d8 W Ugddl g1 3G U 9WiE & fo Sgrel &1 SfHI-SHl 55 g1 91Y
ol 39 <9 § Ffe-=1e war 9| sufen fafewr wmwre 7 S Aifde fed sa-1 yad H ol &
fo 39 g d @iz o Isgwidd 996 g & caa gl o SRl |

Sub questions

Question Number : 1 Question Id : 9209065363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TER T T ® |

(1)  HbTEdl BT (2) THIA
(3)  CBTHFEA (4) qAN B
Options :

92090621201. 1
92090621202. 2
92090621203. 3
92090621204. 4

Question Number : 2 Question Id : 9209065364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 1 SHTd P U 1 AU 8
(1)  WKel oI dfdaar (2) SEET HEE
(3) RS BT MY T (4) TGl & 9ER

Options :



92090621205. 1
92090621206. 2
92090621207. 3
92090621208. 4

Question Number : 3 Question Id : 9209065365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffe-Ae 79 T &1 a1 344 2|

(1) gl Hd Sl (2) Toul-Tel ARY gH
(3) YR-TREIEHAT (4) TIBIHR HF WMl
Options :

92090621209. 1
92090621210. 2
92090621211. 3
92090621212. 4

Question Number : 4 Question Id : 9209065366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& B Ul ¢ & [FAR F91 87

(1) T (2) T
(3) ™ 4)  THd
Options :

92090621213. 1
92090621214. 2
92090621215. 3
92090621216. 4

Question Number : 5 Question Id : 9209065367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farfer AT A sroet Afde v =i S+t uad &1 i

(1) ®EIPTHGIAEP
(2) BIS Tad W AHH A HI b

(3) @IS 39 JHUHE 9 Ugdl A 9
(4) B 3UP STeTal B - A1 AF b

Options :

92090621217. 1
92090621218. 2
92090621219. 3
92090621220. 4

Question Id : 9209065362 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

UK TR 1 UgehR 1 fU gU usl & IR i

TG4 UeR oW Adl & fhR R 91 g3l ¢, foret ure drel § SR Ut TIERI| Wig dT &
e gF iR 239 1 & ST Ut I & BRI, T U [Aua swewme ot g1 981 IS
Y5l SIgTol SHTd-SlTd § SR g U 3@ W 2RI A & FHW HKJ@l 1 ST AIqH Bl g1 Fal
T gedt &1 i feumsil &) ATa S € iR 98l A Si1al § | e aul STAd™ ®i Hie Jrd
&1 ggd I 3§58 W Ugddl 2| Ufe Us Uwie & foe Serell &1 SfH1-H1 &5 81 9y
Il 39 1§ nfg-Afe wan o | guien fafewr wmwrsa A sio-l Aifde ufdd ol ved s ot @
fop 39 gian o i o Tsuwidd g g o e A1gl o Skl |

Sub questions

Question Number : 1 Question Id : 9209065363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFHL o BT 3U E |

(1) HeTddl Sl (2) <l
(3)  CBTHEA @) qaAT B
Options :

92090621201. 1
92090621202. 2



92090621203. 3
92090621204. 4

Question Number : 2 Question Id : 9209065364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR P SIS B W 1 U §

(1)  WKell I ufdar (2) ST HEd
(3)  HEEI @ MHYD =™ @) TXEl P geR
Options :

92090621205. 1
92090621206. 2
92090621207. 3
92090621208. 4

Question Number : 3 Question Id : 9209065365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffg-=fe 7 91 &1 1 31 81

(1) &l Hg SFl (2) TEA-Tel RY BT
(3) IR-IRTEIEHT (4) TIEER 7 &Ml
Options :

92090621209. 1
92090621210. 2
92090621211. 3
92090621212. 4

Question Number : 4 Question Id : 9209065366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & T T3l & fHR I8 87
(1) T (2) g
(3) W 4) T

Options :



92090621213. 1
92090621214. 2
92090621215. 3
92090621216. 4

Question Number : 5 Question Id : 9209065367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farfesr AT A SrgHl F1fde wfda & S uad &1 @l

(1) @S IFIFETATD
(2) B3 W W 3AHHU 7 T g

(3) @IS 39 JH9HE A Ugdl A 9
(4) IS 3HE SIETsl Bl AFEI-SH 91 ISP I

Options :

92090621217. 1
92090621218. 2
92090621219. 3
92090621220. 4

Sub-Section Number : 2
Sub-Section 1d : 920906171
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209065368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o1 e, W [ ST &1 B T1 8191 U 91E | 39 1 Fd 67

(1) ¥ (2) HdIH
(3) fazmo 4) fepan
Options :

92090621221. 1
92090621222. 2
92090621223. 3
92090621224. 4

Question Number : 6 Question Id : 9209065368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

o1 e, W [ ST &1 B T1 8191 U 91E | 39 1 Fd 67

(1) ¥ (2) HdIH
(3) fazmo @) T
Options :

92090621221. 1
92090621222. 2
92090621223. 3
92090621224. 4

Question Number : 7 Question Id : 9209065369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofifad # § $H-5H Usg PRS e 8
A HEY

B. H

C. 3R

D. &I

S

A< fg 7Te faeseut # 9 Tel IR @1 99 Sifo -
(1) &dd A B, D

(2) &dd DA C

(3) &dd ABE
(4) &dd B, D,E

Options :

92090621225. 1
92090621226. 2
92090621227. 3
92090621228. 4

Question Number : 7 Question Id : 9209065369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fFaferEd # 9 SH-$1H sk FRS &% 8
A Hdy

B. 4

C. 3R

D. &l

E. @I

A fAw U faseul # 9 Wl IR &1 94 Sl -

(1) &dd A, B,D
(2) &dd D, A C
(3) &dd ABE

(4) &dd B, D, E

Options :

92090621225. 1
92090621226. 2
92090621227. 3
92090621228. 4

Question Number : 8 Question Id : 9209065370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfcler 2sg H 39 g |

(1) &y (2) W
(3) ufd (4) IO
Options :

92090621229. 1
92090621230. 2
92090621231. 3
92090621232. 4

Question Number : 8 Question Id : 9209065370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e s H IUTi g |

(1) &1 (2) W
(3) Wi 4 T
Options :

92090621229. 1
92090621230. 2
92090621231. 3
92090621232. 4

Question Number : 9 Question Id : 9209065371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & a1y gl 1 fAaE SN

el-1 (fRTa) T 1 (3rd)
(A) TAAATEHAT (1) ST A
(B) <TG &l (1) U= S
(€) SMMRIWWIT (1) T&d IRYH HIAT
(D) TR PG (V) WeRAS ST HEAT
1 fau U faeedi # 9 W&l It &1 994 Hifeg:
(1) (A)-(), (B)-(1), (O)-(IN), (D)-(IV)
(2)  (A)-(V), (B)-(11), (C)-(1), (D)-()
(3)  (A)-(), (B)-(IN, (O-(I), (D)-(IV)
(4)  (A)-(1), (B)-(I1), (C)-(IV), (D)-(1)
Options :

92090621233. 1
92090621234. 2
92090621235. 3
92090621236. 4

Question Number : 9 Question Id : 9209065371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 & 1 G 11 B e i

-1 (HETa) It -1 (1)
(A) TSIERIUS ST () U EN
(B) T (1) T S
(C) SMMRIWWIGAT (1) TEd IRYH HAT
(D) R P EdH (IV) WeRATS S BN

12 fau e fasedi H 9 931 IR &1 994 S

(1) (A)-(lI) ) (Q)-(I), (D)-(IV)

(2)  (A)-(IV), (B)-(l), (O)-(11), (D)-(1)

(3) (A1), (B)-(In), (C)-(lH), (D)-(1V)

4 (A=), (B)-(I), (C)-(V), (D)-(I)
Options :

92090621233. 1
92090621234. 2
92090621235. 3
92090621236. 4

Question Number : 10 Question Id : 9209065372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl R d¢ aaT # DR g

(1) =N 2) THS
(3)  Sifoerifed (4) ST
Options :

92090621237. 1
92090621238. 2
92090621239. 3
92090621240. 4

Question Number : 10 Question Id : 9209065372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS deaR de aHTe H SfadR gl

(1) w9 (2) THS
3)  ifoerifaa (4) SUNH
Options :

92090621237. 1
92090621238. 2
92090621239. 3
92090621240. 4

Question Number : 11 Question Id : 9209065373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTERUI TSl U 6 % % dIfes 1 & A fava- ani & $ig A ¥9d &1 A gl St 2

(n 8 2y 16
(3) 20 4 5
Options :

92090621241. 1
92090621242. 2
92090621243. 3
92090621244. 4

Question Number : 11 Question Id : 9209065373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRl TS R 6 % % I 1 & A faa- anl & $ig AfY T9d & g ol St 2

(1) 8 (2) 16
(3) 20 4 5
Options :

92090621241. 1
92090621242. 2
92090621243. 3
92090621244. 4

Question Number : 12 Question Id : 9209065374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gfd 3cot0=4 %’,ﬁl sin® 0 - cos? 0 + tan B?FIHFI%I

57 47
1 — 2) —
() 100 (4) 100
16 9
(3) >t (4) 5
Options :

92090621245. 1
92090621246. 2
92090621247. 3
92090621248. 4

Question Number : 12 Question Id : 9209065374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe 3cot0=4 %,H-’l sinZ 0 - cos? O + tan B?ﬂﬂﬂ%l

57 47
1 — 2) —
() 100 () 100
16 9
3 — £ S
(3) 5% (4) 5%
Options :

92090621245. 1
92090621246. 2
92090621247. 3
92090621248. 4

Question Number : 13 Question Id : 9209065375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT 9 10% Y W U I3UT 2 1,100 H dUT 15% @H W U diida 2 11,500 H &1
3P Hd arH ufad gl
7

5
220 el
(1) 1 llz’;:u (2) 13“ o

6 5
3) 14— 7 S b
(3) T W lags .

Options :

92090621249. 1
92090621250. 2
92090621251. 3
92090621252. 4

Question Number : 13 Question Id : 9209065375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 9 10% WY W U STl T 1,100 H TUT 15% ATH W TS cdiidad 2 11,500 H =11
IP1 Hd arH ufard gl
7

5
1 1229 2 1319
(M T @ Tk

6 5
3) 14>% 4) 132%
©) T = R

Options :

92090621249. 1
92090621250. 2
92090621251. 3
92090621252. 4

Question Number : 14 Question Id : 9209065376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 R aTd U1 & U 319 ST &) foreren &% 341 SR Brsn R 916 9 &1 %= f&ar |
e SY UPR &1 TP D1 Sl R e, Al H R R T T g

(1) H=2R (2) H=§R

(3) H=+R (4) H=3R



Options :

92090621253. 1
92090621254. 2
92090621255. 3
92090621256. 4

Question Number : 14 Question Id : 9209065376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

41 R aTdl YT & U 319 3ieffid &1 foreel &1 341 SR Bl R 916 9 &1 %=1 f&ar |
gfe S UBR a4 P DI Hdls R &, dl H 3R R & Fia+ g

(1)  H=2R (2) H=§R
(3) H=4A3R (4) H=3R

Options :

92090621253. 1
92090621254. 2
92090621255. 3
92090621256. 4

Question Number : 15 Question Id : 9209065377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e aeHiudficas i s s [Pl s Sl 1sGAd v uFad g | A s s 10fea |

H & foru SR e SR 3gHl &1 W @H &1 ATEHdl & afe Udd eH ufafe 10
He ®TH Hdl 872

(m 1 (2) 2
(3 3 4) 4
Options :

92090621257. 1
92090621258. 2
92090621259. 3
92090621260. 4

Question Number : 15 Question Id : 9209065377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

ey aeHiudfecas e s s [FH s Sl 1s A i e uFd g | ST s &1 10 fea &

F & foru 31R o SR 3igHt W W @IH &1 awddl § afe U ieHt ufafe 10
He &I Hdl 87

(1) 1 (2) 2
(3 3 4) 4
Options :

92090621257. 1
92090621258. 2
92090621259. 3
92090621260. 4

Question Number : 16 Question Id : 9209065378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Afgdl & 3R 3T H¥d gU gHId A el a8 7 a1t | B gHdldl G S G g 39
Higen &1 g-a & & a2

1) (2) sl
(3) @) &
Options :

92090621261. 1
92090621262. 2
92090621263. 3
92090621264. 4

Question Number : 16 Question Id : 9209065378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Higdl F R 377 Hd gU YA A bl 98 A ardl 1 B gbdldl G B g 87 39
Higen &1 g-ird ° &1 Rl 82

(1) o (2) ofich
(3) 4) &
Options :

92090621261. 1



92090621262. 2
92090621263. 3
92090621264. 4

Question Number : 17 Question Id : 9209065379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{41 U Pp H MOTHER T QDGSNL for@1 §ITdT 8, 99 TIGER by e H feran simam?

(M SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

92090621265. 1
92090621266. 2
92090621267. 3
92090621268. 4

Question Number : 17 Question Id : 9209065379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fHHl Uh B¢ H MOTHER &1 QDGSNL ferat irdi 8, dd TIGER fod o # ferar s

(1)  SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

92090621265. 1
92090621266. 2
92090621267. 3
92090621268. 4

Question Number : 18 Question Id : 9209065380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3l & T & 3 dgd HH H JAaRyd H3- TR T-1 6912345 H fdha il ot Rufa
Jufiafdd et |

1y =Yg (2) TP
3) @ @ dHF
Options :

92090621269. 1
92090621270. 2
92090621271. 3
92090621272. 4

Question Number : 18 Question Id : 9209065380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3l & Al & 3aR dgd HH T JHHaRUd B TR W& 6912345 H fova 3fa] &1 fufa
Sufyafdd e |

(1 I (2) TP
(3) @ @) dHF
Options :

92090621269. 1
92090621270. 2
92090621271. 3
92090621272. 4

Question Number : 19 Question Id : 9209065381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I W1 a0 Helgd ad & SR B 91 ‘FHER & g A9 [vfg #x:

HYT : F YR B EH D1 GH sRP Hifcadi &1 i & aige?
dd | : Siiel, TH & [AeME® Hifd &1 Uit 8q Ugd &1 &1 Jgl U ARl € |
s 11 AT, S0 frRIrIHT TR 3BT WHYA g B |

SWRIT HY F 3l H, Hd U 1Y fdwedi 7 | Wel 3! 9a DI

(1) addd | Ooed g

(2) Paddd I HSEd T

(3) W dIdd | T dd || HoiEd &

(4) Adiad | SRAE A TH || ASlEd §

Options :

92090621273. 1
92090621274. 2
92090621275. 3
92090621276. 4

Question Number : 19 Question Id : 9209065381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®F 91 dd Tolgd ddb’ & 3R S 1 HHAR ad' & 19 g H3:

HUT ;. YR B EY D1 GH 3RIPT Hifcdl &1 a0y S g
@ | : Sitgl, T4 & fAemers it $ i 3 ugd SF 198 Uh Anf ¢ |
dd 11 : AT, S fdrara=T 3= 3BT THY g Hd |

SWRIE S F 3l H, 1 AU 1Y fdwedt 7 | Wel 3! 9a4 SIf:
(1) Haddd | Holgd o

(2) Paddd || HeEd 8

(3) AIAIdd | g1 ddb (| Holed &
(4) Adidd | AR AE Iad || Helgd g

Options :

92090621273. 1
92090621274. 2
92090621275. 3
92090621276. 4




Question Number : 20 Question Id : 9209065382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTpfa T oiifep o | i &

M|  F H D

(a) (b) (c) (d)

(1 (@ (2) (b)
(3) (9 @ (d)

Options :

92090621277. 1
92090621278. 2
92090621279. 3
92090621280. 4

Question Number : 20 Question Id : 9209065382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Pl g3 ifp s A &

M F H | D

(a) (b) (c) (d)

(1) (a) (2) (b)
(3) (@ 4 (d)

Options :

92090621277. 1
92090621278. 2
92090621279. 3
92090621280. 4

Question Number : 21 Question Id : 9209065383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

?ﬁﬁmmwwwﬁﬁmﬂmﬁaﬁw%mm%mw
?

(1) §@IYER 9494 (2) ST, UraR T4
(3) DS UraR ¥4 (4) WY Ul U
Options :

92090621281. 1
92090621282. 2
92090621283. 3
92090621284. 4



Question Number : 21 Question Id : 9209065383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;@Hﬁaﬁqmaﬁrﬂwwsmaﬁﬁmuuﬂﬂsﬁﬁ%mm%mw
?

(1) §@IYE 94d (2) SrMfesd urae H49
(3) P UraR ¥4 (4) WGy UTdR YO
Options :

92090621281. 1
92090621282. 2
92090621283. 3
92090621284. 4

Question Number : 22 Question Id : 9209065384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Ty gt 1 &1 fHeaE i

a1 (93) el -1l (i)
(A)  ISTHIHG YR () FauicE, &0 IUR R, $a sMfte g
(B) I YR (1) Fa UG R $a MiUe g
(€) oI YR (1) Tord Ul W Fd ST ord 30
(D) WIS ORI (Iv) Pa uicd, $d IR 3R = &1 YaaH
WR ol 3Mfere o
12 fau e fasedi § ¥ gl IR &1 994 Sifg;
(1) (A)-(), B)-(), (©)-(), (D)-(IV)
(2)  (A)-(), (B)-(l), (©)-(1V), (D)-(11)
(3)  (A)-(V), (B)-(), (O)-(ID), (D)-(1)
(4)  (A)-(IV), (B)-(1), (O)-(1), (D)-(I)
Options :

92090621285. 1
92090621286. 2
92090621287. 3
92090621288. 4



Question Number : 22 Question Id : 9209065384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LelEEIEE e EEIE Rl

GIERGE)) T -1 (WfeH)
(A) ISR YR () od U], $H IR R, Fd R g
(B) oI YR () PaUieE ) o e g
(C) ISTE YRT (1) TS YTl R Sf1fea Jed o9y
(D) WA gR1 (V) Fd WG, $d IUR 3R &4 &1 Y&
W 31U oqg

42 feu v fasedi | 9l IR &1 I8 DI

(1 (A=), B)-(1), (C)-(), (D)-(IV)
(2) (A, B)-(11), (©O-(V), (D)-(I1D)
(3)  (A)-(V). (B)-(1), (C)-(11), (D)-(1)

)-(

(4)  (A)-(V), (B)-(1I), (C)-(1), (D)-(1D)
Options :
92090621285. 1
92090621286. 2
92090621287. 3
92090621288. 4

Question Number : 23 Question Id : 9209065385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 7 TS Hh-d dg H ¥ Ue IR g3 |

(1)  ©HEA - TiEh Tae (2) et - il Tae
(3) i - 3fda tae (4) el - \gHA Oae
Options :

92090621289. 1
92090621290. 2
92090621291. 3
92090621292. 4

Question Number : 23 Question Id : 9209065385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gId1g i A S5 44 de- H gy Ue W g3 |

(1)  THEA - U (2) &all - el G
(3) it - 3fda tee @) el - \gHA Uae
Options :

92090621289. 1
92090621290. 2
92090621291. 3
92090621292. 4

Question Number : 24 Question Id : 9209065386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRIAFFARUMNE F AP AFTFY ARMEIT A TR TS FRUR S FUH, ¢ |
AUFUT A : G H oMl B IUUT F IR A H e F I H G et 8 |

SRR : ang 7 3l Bt Juffd Y arg & v A G g § |

SR FY & 3fTdld H, i 3T T fab el 7 I a8 Iugad I D1 999 Hiforw

(1) ASRRGH Id ¢ 3R R, A DI gl ARAT &

2 ASIRREF 9d € dfd R, A 3 G AT 8] &
3) AYAE AfPAR AR

4) ASYUIE, AfBPTIRIETE

Options :

92090621293. 1
92090621294. 2
92090621295. 3
92090621296. 4

Question Number : 24 Question Id : 9209065386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & By RU TN §: U Sifidy A $ F9 H foEd § o) g1 39D SRR S U H, § |
AUBYT A : T H sl B IUFUR F RO A F A & I A G A & |

HRUIR ; Ry 7 3igal 1 U I F e H afZ e 8 |

JURIE HY & 3Tciies H, 19 iU e faswedi # 3 e Iuged IR &1 944 Hifory

(1) ASIRRIHA TAE SRR, A DI Tel AN &

2 ASRREF 9d €, Afd R A P G ARAT 1 &
(3) ATIE APAR TS

(4) AHIT, dfbTRIT T

Options :

92090621293. 1
92090621294. 2
92090621295. 3
92090621296. 4

Question Number : 25 Question Id : 9209065387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 € Y= UL & 0 3By A $ F9 F foifd 8 ol g1 38D PRUR S FUH, B
AUBHYT A ©  URd P WfAuH U adien iU g |

HRUR: T dfddsd Jayd USRI DI Iuds] HIA & |

SWRIE $YA & 3l H, g fU T fahedi § 9 968 Iuge IR 1 94 Hifog
(1) ASIRRGH T E 3R R, A DI el ARAT &

(2) ASRRIA THE, AfFTR A B &l ARA Tl &

3) AY9UE APARNEIE

4) AS3UIE AfFTIRITE

Options :

92090621297. 1

92090621298. 2

92090621299. 3
92090621300. 4

Question Number : 25 Question Id : 9209065387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

9 € Hy U T & 0 sy A $ &9 T fo1fad § o g1 38P PRUR S EUH, §|
HHBHYTA .  HRA 1 Y U o Hfaum g |

HRUR: T dAfddd Jayd USRI oI Iuds HIAT & |

SWRIE $YA & 3l H, - iU 1 [ahedl § 9 968 Iuge It 1 944 DI

(1) A SRREH TH g 3R R, A | el AT &

2) ASRRIATHE dAfFAR, A ® T RSN T8I &

3) ATAE APIR TG
4) AMTIE AMPIRIATE

Options :

92090621297. 1
92090621298. 2
92090621299. 3
92090621300. 4

Part B: Disaster Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

920906108
2

Online
Mandatory
75

75

300

Yes

0

1
920906172
Yes

null

Question Number : 26 Question Id : 9209065388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



S0P Stands for

(1) Standerd operationprotocol (2) Standerd operating practices
(3 Standerd operating procedure (4) Standerd operating plan
Options :

92090621301. 1
92090621302. 2
92090621303. 3
92090621304. 4

Question Number : 26 Question Id : 9209065388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR H i Eag

(1) wWSs ATRYH Ueihd 2) W3S R UigeRm
3) Tas I mifter (4) ES IR @A
Options :

92090621301. 1
92090621302. 2
92090621303. 3
92090621304. 4

Question Number : 27 Question Id : 9209065389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which ministry in govt of india coordinates all aspects of disaster managent in india

(1) Defense Ministry (2) Health Ministry
(3 Home Ministry (4) Agricultural Ministry
Options :

92090621305. 1
92090621306. 2
92090621307. 3
92090621308. 4

Question Number : 27 Question Id : 9209065389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HRd TRHR H 1 T #3100 HRd H 3] UseH & T uali &1 ai-ag S g 2

(1) &1 {3y (2) WY HIY
(3) 7§ HAWY (4) DN HATY
Options :

92090621305. 1
92090621306. 2
92090621307. 3
92090621308. 4

Question Number : 28 Question Id : 9209065390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IPCC Stands for

(1) Inter governmental penal for conservation of coasts

(2) Inter governmental penal of confidaration of countries.

(3) Intergovernmental penal on climate change.

(4) Inter governmental penal on coopration of countries
Options :

92090621309. 1
92090621310. 2
92090621311. 3
92090621312. 4

Question Number : 28 Question Id : 9209065390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s A A dgiEu g

(1) e a-Hed 390 BR HoldH S ey
2) SR ITHCH I BR Hhe A AP deld
(3) SR IG-Hed g qagHe do

(4)  FeXTEAHCA U 3 SIS 36 Bl
Options :

92090621309. 1



92090621310. 2
92090621311. 3
92090621312. 4

Question Number : 29 Question Id : 9209065391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following legal frameworks lays down the Institutional and co-ordination
mechanisms for disaster management in India

(1) Disaster Management policy 2009
(2) National disaster management plan 2016
(3) Sendai frameworks 2015-30.

(4) Disaster management Act, 2005

Options :

92090621313. 1
92090621314. 2
92090621315. 3
92090621316. 4

Question Number : 29 Question Id : 9209065391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

;ﬂﬁﬁ&mﬁu?%gm d Y=g 9 &1 g 3 ¥ $1H w1 ot g Ruia &
?

(1) 3maer yeeE Hifd, 2009 (2) PR TUET Y TSI, 2016
(3) H3TE WhHAD 2015-30 (4) MUl wayH sfafas, 2005
Options :

92090621313. 1
92090621314. 2
92090621315. 3
92090621316. 4

Question Number : 30 Question Id : 9209065392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How much landsurface in India is vulnerable to modrate and high intensity earthquake risk

(1) T0% (2) 30%
(3) 59% 4y 27%
Options :

92090621317. 1
92090621318. 2
92090621319. 3
92090621320. 4

Question Number : 30 Question Id : 9209065392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR B foaH1 Yda &5 9999 3R 3= digal Y&y Sifen & ufd srféd g2

(1) 70% (2) 30%
(3) 58% (4) 27%
Options :

92090621317. 1
92090621318. 2
92090621319. 3
92090621320. 4

Question Number : 31 Question Id : 9209065393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tsunami warning system is deploved in which of the following sea / oceanin India

(1) India ocean (2) Arabian sea
(3 Bay of Bengal (4) Andaman sea
Options :

92090621321. 1
92090621322. 2
92090621323. 3
92090621324. 4

Question Number : 31 Question Id : 9209065393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HRd H AT Iaraii qored fod IrR/HgRIR § 941d &1 7S 82

(1) &< "emrR (2) SRE IR
(3) e Bl @rs! (4) SISHM g
Options :

92090621321. 1
92090621322. 2
92090621323. 3
92090621324. 4

Question Number : 32 Question Id : 9209065394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is known as the hostpot of the landslide in India?

(1) Srinagar (2} Shimla
(3) Sikkim (4) Nilgiris
Options :

92090621325. 1
92090621326. 2
92090621327. 3
92090621328. 4

Question Number : 32 Question Id : 9209065394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad A 3 o119 91 R JFaad i 2@® I S uqul @l Wre) 82

(1) 4R ) fme
3) fufdsn (4) s
Options :

92090621325. 1
92090621326. 2
92090621327. 3
92090621328. 4



Question Number : 33 Question Id : 9209065395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following earthworks waves arrives first during earthworks

(1) S waves (2) Love Waves
(3 P waves (4) Rayleigh waves
Options :

92090621329. 1
92090621330. 2
92090621331. 3
92090621332. 4

Question Number : 33 Question Id : 9209065395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YUl & SR FgfifEd T4 &1 9

(1) THdH (2) odded
(3) Uidsw (4) Yol dod
Options :

92090621329. 1
92090621330. 2
92090621331. 3
92090621332. 4

Question Number : 34 Question Id : 9209065396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amplitude of a Tsunami wave in the mid sea is

(1) Less than 1 meter (2) less than 5 meteres
(3 Around 15 meters (4)  Around 20 meters
Options :

92090621333. 1
92090621334. 2
92090621335. 3
92090621336. 4



Question Number : 34 Question Id : 9209065396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & 0eg § A o &1 S Ay F 9 a1 gl 82

(1) 1HIIASH (2) S5HEIIAFH
(3)  TTHI 15 Hiex (4) TATHI 20 Hiel

Options :

92090621333. 1
92090621334. 2
92090621335. 3
92090621336. 4

Question Number : 35 Question Id : 9209065397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The coalition for disaster resilient Infrastructure (CDRR) is an international coalition of
countries, united nation agencies, multilatared developemant banks the private sector and
acedemic institutions that aims to promte disaster resilient infrastructure was proposed by

(1) Antonio Guterres, Sevetary General of UN.
(2) Boris Johnson, formar prime mister of UK
(3) joseph Robinette Biden jr. president of USA

(4) Narendra Modi prime minister of india

Options :

92090621337. 1
92090621338. 2
92090621339. 3
92090621340. 4

Question Number : 35 Question Id : 9209065397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WWWWW@@WW;MW @1 Uoitadi, ag9afig
ey dl, ol &7 iR siPpeie dwirsi ﬁwsﬁlﬂ%ﬂ ﬁmwa%w&m
TATH SNYRY gid &1 dgrdl o1 ¢ | 39 BIa I &l 79 e o um

(1) TR IR, Herad, Ygad WP 69

2)  SIRY S, fsed & Yagqd g

(3) S Afe-e SrgS R, HgF I M & Ipufd
(4) T HEL YR & UYTHE

Options :

92090621337. 1
92090621338. 2
92090621339. 3
92090621340. 4

Question Number : 36 Question Id : 9209065398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following ecosystem is most vulnerable to over exploitation?

(1) Tropical forests (2) Coral reefs
(3) Polar region (4) (Grasslands
Options :

92090621341. 1
92090621342. 2
92090621343. 3
92090621344. 4

Question Number : 36 Question Id : 9209065398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofafEa 7 9 $19 r uiiifufas 33 srafie Sga & ufa vaifies srféa 2

(1) SUEBREHYg a1 (2) FmaAd
(3) Ydig & (4) 9 R
Options :

92090621341. 1
92090621342. 2



92090621343. 3
92090621344. 4

Question Number : 37 Question Id : 9209065399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gas is the primary contributor to global warming?

(1) Nitrogen (2) Oxygen
(3) Carbon Dioxide (4) Methane
Options :

92090621345. 1
92090621346. 2
92090621347. 3
92090621348. 4

Question Number : 37 Question Id : 9209065399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofoiad & 9 & 9t 19 34 aF &1 uaEe iRk g2

(1) AceH 2) SEIH
(3) FlEA SHFHES (4) T
Options :

92090621345. 1
92090621346. 2
92090621347. 3
92090621348. 4

Question Number : 38 Question Id : 9209065400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to CREED data (2015) 90% of recorded major disaster caused by natural hazards
from 1995 to 2015 ware linked to

(1) Tsunami (2) Cyclones
(3 landslides (4) Weather and climate
Options :

92090621349. 1



92090621350. 2
92090621351. 3
92090621352. 4

Question Number : 38 Question Id : 9209065400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I8 (@ 3R 33 ) 3MiPbaT (2015) F SFFR 1995 F 2015 F 19 UIpfasd Yhel $ PRV g5
T ffufarad smuersit # ¥ 90% Fafafed ¥ 9 fad 9t 4

(1) gAH (2) dehdld
(3)  Y&EaA (4) HHH T Sadyg
Options :

92090621349. 1
92090621350. 2
92090621351. 3
92090621352. 4

Question Number : 39 Question Id : 9209065401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a component of G188 frameworks

(1) Data Acquisition and management

(2) Analysis and modeling

(3) Disaster response and recovery

{4) Data visualization and dissemination
Options :

92090621353. 1
92090621354. 2
92090621355. 3
92090621356. 4

Question Number : 39 Question Id : 9209065401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafefad 7 9 & St 315 T gid &1 U Huesd el 67

(1) S &g q yayH 2) fazeiyur g ufaeygo
(3)  STUeT 3FfHAT 9 YAHaT (4) ST HFY TH&THI0
Options :

92090621353. 1
92090621354. 2
92090621355. 3
92090621356. 4

Question Number : 40 Question Id : 9209065402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which phase of disaster management cycle is gender sensitive---

(1) Mitigation (2) Preparedness
i(3) Response {4) Recovery
Options :

92090621357. 1
92090621358. 2
92090621359. 3
92090621360. 4

Question Number : 40 Question Id : 9209065402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T UsiEH dh BT DI 1 TR0 SieX Hddl gidl 872

(1) gHAH0 2) durt
(3)  Srfeean (4) JATUM
Options :

92090621357. 1
92090621358. 2
92090621359. 3
92090621360. 4



Question Number : 41 Question Id : 9209065403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the primary cause of floods

(1) Tornadoes (2) Hurricanes
(3 Earthquakes (4) Heavy Rainfall
Options :

92090621361. 1
92090621362. 2
92090621363. 3
92090621364. 4

Question Number : 41 Question Id : 9209065403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I &1 WUfHe SR $H 91 67

(1) dda3 (2) TeHE
(3) Y&u (4) HIYaui
Options :

92090621361. 1
92090621362. 2
92090621363. 3
92090621364. 4

Question Number : 42 Question Id : 9209065404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which natural hazard causes the most deaths worldwide according to Global risk index?

(1) Earthquakes (2) Floods
(3) Cyclones (49 Drought
Options :

92090621365. 1
92090621366. 2
92090621367. 3



92090621368. 4

Question Number : 42 Question Id : 9209065404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afye Sifen gEais S SFUR g Urelas dee 3 fAyR # gaifte A9 e &2

(1) H&Hd (2) dg
(3) dehdld (4) @l
Options :

92090621365. 1
92090621366. 2
92090621367. 3
92090621368. 4

Question Number : 43 Question Id : 9209065405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is risk?

(1) The potential Harm or loss resulting from an event.

(2) The physical exposure to an event.

(3) The likelihood of an event occuring.

{4) The resilience of a system or population to harm from an event.
Options :

92090621369. 1
92090621370. 2
92090621371. 3
92090621372. 4

Question Number : 43 Question Id : 9209065405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIRaH a1 87

(1) {54 9o & Baasy YU THEH 31yl &fd

2) T gear & ufa IR sRféman

(3) 5 ge1 & ufed 819 &1 HHaHl

(4) fod g1 €1 91a IHAH & Ui Wore! sryar sferd ot draeiierd

Options :

92090621369. 1
92090621370. 2
92090621371. 3
92090621372. 4

Question Number : 44 Question Id : 9209065406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which International Organization is responsible for Implementing the Sendai Freamwork
2015-30

(1) United nations Development programme (UNDP)

(2) United nations Environment programme (UNEP)

(3) United nations Office for disaster risk reduction (UNDRR)

(4) United nations high commission for refugees (UNHCR)

Options :

92090621373. 1
92090621374. 2
92090621375. 3
92090621376. 4

Question Number : 44 Question Id : 9209065406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo Thad 2015-30 BT HAT-aTA 8 S A1 SIRTPIT WiTa— ITer 72
(1) g Y faPre SrEHw G U S

() HgF Y gafaRor RieH @ U § )

(3) UG Y 3T SEH TR (G T ST 3R 3HR)

(4)  Hged AP IR IFRN (G TF T 0 HR)



Options :

92090621373. 1
92090621374. 2
92090621375. 3
92090621376. 4

Question Number : 45 Question Id : 9209065407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sustainible development goal aims to reduce the number of people
affected by disaster and increase the resilience and adaptive capacity of communities to
disasters

i1 Goal 5 (2) Goal9
(3) Goal 11 (4) Goal 13
Options :

92090621377. 1
92090621378. 2
92090621379. 3
92090621380. 4

Question Number : 45 Question Id : 9209065407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 wdd faer dedi (Tu St of) # fget Igwd g snuarsi @ uwifad eF arelt safekal 1
G F HH ST AR 3HIS137 D1 Arficd 9 G &ndl § gig e

(1) d&5 (2) T&9
(3) d&mn (4) w&d13
Options :

92090621377. 1
92090621378. 2
92090621379. 3
92090621380. 4

Question Number : 46 Question Id : 9209065408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which pandemic resulted in the highest number of deaths in the world

(1) Covid-19 (2) Spanish FLU
(3) Ebola (4) HIV/AIDS
Options :

92090621381. 1
92090621382. 2
92090621383. 3
92090621384. 4

Question Number : 46 Question Id : 9209065408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafed # 9 f&9 fay 7 gaifts Md g3 &2

(1) Ifas19 (2) W
3 & (4) THARH/TSH
Options :

92090621381. 1
92090621382. 2
92090621383. 3
92090621384. 4

Question Number : 47 Question Id : 9209065409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is an example of health issue that may arise in the after math of a
disaster.

(1) Heart Disease

(2) High Blood Pressure

(3) Post- Traumatic Stress disorder(PTSD)

{4) Diabeties

Options :

92090621385. 1
92090621386. 2
92090621387. 3
92090621388. 4



Question Number : 47 Question Id : 9209065409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁﬁﬁ@wﬁﬂﬁwm%@ﬁm%qmmaw
?

(1) &g (2) I TGE™
(3) AU UydId PR @A wwE) 4) HAYES

Options :

92090621385. 1
92090621386. 2
92090621387. 3
92090621388. 4

Question Number : 48 Question Id : 9209065410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is an application of GIS in disaster risk reduction?

(1) Hazard Zonation

(2) Disaster Response

(3) capacity Developement
(4) Disaster Recovery

Options :

92090621389. 1
92090621390. 2
92090621391. 3
92090621392. 4

Question Number : 48 Question Id : 9209065410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1Y SiReH sfedidor § Fafefad # & $19 ot i1 T 30N &1 U 3160 87

(1)  SifEH &Eier (GHeE) (2) 3MueT rfchan
(3) &l fas™ (4) Sl Y12

Options :



92090621389. 1
92090621390. 2
92090621391. 3
92090621392. 4

Question Number : 49 Question Id : 9209065411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the primary goal of land use zoning?

(1) To Promote development in all areas
(2) To Prohibit development in certain areas
(3) To encourage urban sprawl

(4) To provide Accessibility to poor people for the usage of land

Options :

92090621393. 1
92090621394. 2
92090621395. 3
92090621396. 4

Question Number : 49 Question Id : 9209065411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y U &HRT (GNf=) 1 UTufie ded o1 82

(1) ot & 7 oy HadA

2)  Diauy &=t # faera ey

(3)  Sfodaiyd Wedl thald &I Uickiied HeAl
(4) Y 3uan & fou THidl &1 ugd g HA1

Options :

92090621393. 1
92090621394. 2
92090621395. 3
92090621396. 4

Question Number : 50 Question Id : 9209065412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The basic purpose of implementing building codes in land use planning?

(1) To Promote the use of cheap material in construction.
(2) To promote the cost of insurance premium in a particular area.
(3) To ensure building are constructed in a way that reduces their vulnerability to natural
disaster
(4) To encourage development in high risk areas
Options :

92090621397. 1
92090621398. 2
92090621399. 3
92090621400. 4

Question Number : 50 Question Id : 9209065412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y IuanT | HaH fmior wfgar & fharaga &1 gfard Sew an g?

(1 o & g el & I &1 | grar 3
) &7 fogw | dian Uity &t arrd &1 ger

(3) U GRfEE &A1 $1 Ha- &1 A 39 yeR @ ol wiefae s & ufa et
Sf&fdT U

(@) I EH &1 ¥ [AHTH B Uredied HA1

Options :

92090621397. 1
92090621398. 2
92090621399. 3
92090621400. 4

Question Number : 51 Question Id : 9209065413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the purpose of emergency medical triage?

(1) To provide Advanced medical care to patients.
(2) To daignose and treat patients in field.
(3) To prioritize patient care based on the security of the condition.
(4) To transport patients to medical facilities.
Options :

92090621401. 1
92090621402. 2
92090621403. 3
92090621404. 4

Question Number : 51 Question Id : 9209065413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fruTd Rt Tr3us &1 35w &1 8Ydl 87

(1) &) I9d i TEurd uaH &A1

() &3 1A &1 FeH 9 IuER
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Options :

92090621401. 1
92090621402. 2
92090621403. 3
92090621404. 4

Question Number : 52 Question Id : 9209065414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of converting kinetic energy into potential energy as tsunami wave strikes the
coast is called as

(1) Shoaling (2} Wave refrection.
(3) Swelling (4) Inundation
Options :

92090621405. 1



92090621406. 2
92090621407. 3
92090621408. 4

Question Number : 52 Question Id : 9209065414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Waﬁgﬁmmmﬁﬁnﬁmﬁ%ﬁmgﬁmﬁﬁﬁummaﬂm&w
el oIl &7

(1) A (2) aYI SUEdA
(3) JHR (4) Helld-
Options :

92090621405. 1
92090621406. 2
92090621407. 3
92090621408. 4

Question Number : 53 Question Id : 9209065415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following sustainible goals aims to promote gender equality and empower
women?

(1) (Goal 1 (2) Goal 2
(3) Goal 5 (4) Goal 8
Options :

92090621409. 1
92090621410. 2
92090621411. 3
92090621412. 4

Question Number : 53 Question Id : 9209065415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁaﬁgaﬁﬂmmaﬂmm%ﬁﬁmaﬁmwmmaﬁaﬁw
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(1) d&n1 (2) ci&d2
(3) oiéd 5 (4) ©lgds8
Options :

92090621409. 1
92090621410. 2
92090621411. 3
92090621412. 4

Question Number : 54 Question Id : 9209065416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a key provision of the paris Agreement on climate change?

(1) The establishment of global fund to compensate countries affected by climate chnge.

(2) The requirement of developed countries to provide financial and technical support to
developing countries for climate action.
(3) The establishment of international court to prosecute countries for violations of
agreement.
(4) The recognition of the right to economic growth of development for all countries.
Options :

92090621413. 1
92090621414. 2
92090621415. 3
92090621416. 4

Question Number : 54 Question Id : 9209065416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soarg uRad= Hed 9 wngid &1 g & § $1F te g Uiy 8?2
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Options :

92090621413. 1
92090621414. 2
92090621415. 3
92090621416. 4

Question Number : 55 Question Id : 9209065417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the name of the global agreement under the UNFCCC 2015 to combat climate
change?

(1) Kyoto protocol (2) Paris agreement
(3) Cophenhagen accord (4) Durban Platform
Options :

92090621417. 1
92090621418. 2
92090621419. 3
92090621420. 4

Question Number : 55 Question Id : 9209065417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) e Wdse ) oy gueian
(3) BIUTH (4) S TEHH
Options :

92090621417. 1
92090621418. 2
92090621419. 3
92090621420. 4

Question Number : 56 Question Id : 9209065418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to IPCC what is the estimated rise in global Temprature for the next 20 years

(1) Less than 1°C (2) Around 1.5¢C
(3) More than 2¢C (4)  Around 0.5¢C
Options :

92090621421. 1
92090621422. 2
92090621423. 3
92090621424. 4

Question Number : 56 Question Id : 9209065418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3113 Gt T Ui F SrTHR 3RTd 20 N1 & e A aruwE # srAIAd afs o 82

(1) 1°J4.IFH (2) TIMIT1.5° 9,
(3) 229 9 3UF (4) THIT1.5° 9,
Options :

92090621421. 1
92090621422. 2
92090621423. 3
92090621424. 4

Question Number : 57 Question Id : 9209065419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which social science prespective views disaster as oppurtinities for social change and
transform ations?

(1) Structural- functionalism (2) Conlict theory
(3) Symbolic intractionism (4) Post modernism
Options :

92090621425. 1
92090621426. 2
92090621427. 3
92090621428. 4

Question Number : 57 Question Id : 9209065419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

4 & ¥ ®1F 91 ga Ay uRueg smuerst &1 grmifee uiidds @ T Uiaiu & Sl &
g ¥ &@dl 87

(1)  SEATHS-UHHaN (2) &g faia
(3) UdibHE 3fd:fhamarg (4) IR MMYfAHIEE
Options :

92090621425. 1
92090621426. 2
92090621427. 3
92090621428. 4

Question Number : 58 Question Id : 9209065420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of vulnerahility assesement approach?

(1) Qualitative Approach (2) Quantitative Approach
(3) Social Approach (4) Mixed method Approach
Options :

92090621429. 1
92090621430. 2
92090621431. 3
92090621432. 4

Question Number : 58 Question Id : 9209065420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafifEd ¥ 3 S Ul idad IUFH $1 Ud UHR T8l 82

(1) TOIMHS JUNTH (2) HHETHS IJUNTH
(3)  HHfe JURTH (4) Toiga fafdy Iuarm
Options :

92090621429. 1
92090621430. 2
92090621431. 3
92090621432. 4



Question Number : 59 Question Id : 9209065421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the fundamental purpose of integerating risk reduction into developmental planning

(1) To priortize hazards for mitigation

(2) Mass Awareness compaigns

(3 To allocate resources for disaster recovery

(4) To build resilience and reduce vulnerability to hazards over long term
Options :

92090621433. 1
92090621434. 2
92090621435. 3
92090621436. 4

Question Number : 59 Question Id : 9209065421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SifEd sfedievl &1 f[AhrRS Fae T Gafdd A 1 Jayd S50 &1 g2

(1)  UeMA & fon Sifedi &t urufiear FHuRo
(2) SR HHIHE
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(4) <ciofafy 8q ¥wel & ufd drasiear fmfor a g germ

Options :

92090621433. 1
92090621434. 2
92090621435. 3
92090621436. 4

Question Number : 60 Question Id : 9209065422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the correct technigue for administering CPR?

(1)
(2)
(3)
(4)

Place the patient in the recovery position and administor chest compression only
Administer rescue breaths only
Administer chest compression and resure breaths in a ratio of 30:2

Administer chest compression and rescue breaths in a ratio of 15:1.

Options :
92090621437. 1

92090621
92090621
92090621

Question
Question

438.2
439.3
440. 4

Number : 60 Question Id : 9209065422 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 i 3R 37 F1 9 aBIe T 82

(1) T B Repadl @R H ol R dhdd diH Bl g
(2) PIdEIEEH I

(3) 30:2% U H YA DI SaU 9§99 FiH ¢

4) 15:1 B FUAHAIA P @V I g9 FE S

Options :
92090621
92090621
92090621
92090621

Question
Question

437. 1
438.2
439.3
440. 4

Number : 61 Question Id : 9209065423 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What kind of systems needs to be developed for implementation during the reconstruction
and recovery phase

(1) System for providing emergancy aid
(2) Systems for providing physical infrastructure
(3) Systems for providing physo-social support and trauma councelling

(4) Systems for increasing economic growth

Options :



92090621441. 1
92090621442. 2
92090621443. 3
92090621444. 4

Question Number : 61 Question Id : 9209065423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR g YIS IR0 H i gq FY # 9 UsR $1 el fdefid e e #it
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(1)  3MYTd YRl USH &3 &g Wonferdi
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4)  onfde 9fE Tgm &g wonfera

Options :

92090621441. 1
92090621442. 2
92090621443. 3
92090621444. 4

Question Number : 62 Question Id : 9209065424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How much of the great barrier reef in Australia estimated to have lost since 1990 due to
climate change

(1) One —third (2) One -half
(3) Twio —third {4) Three quarters
Options :

92090621445. 1
92090621446. 2
92090621447. 3
92090621448. 4

Question Number : 62 Question Id : 9209065424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIedrg URddd & R 1990 F SReferdl & He AaiufBEYy & sHifd gR fba-r g2

(1) Ud EBI% (2) Sl
(3) @ faer (4) o U
Options :

92090621445. 1
92090621446. 2
92090621447. 3
92090621448. 4

Question Number : 63 Question Id : 9209065425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the impact of over exploitation of land use?

(1) Increazed Soil Erosion (2) Decreased Urban Sprawl
(3) Decreased Agriculture Production (4) Increased Land conservation
Options :

92090621449. 1
92090621450. 2
92090621451. 3
92090621452. 4

Question Number : 63 Question Id : 9209065425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIUNT & SHfUEIE BT 1 YUIE T 7

(1)  Waftid 7T e (2) el TR A HH
(3) P I H HHl (4) e A i
Options :

92090621449. 1
92090621450. 2
92090621451. 3
92090621452. 4



Question Number : 64 Question Id : 9209065426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the purpose of international disaster response laws rules and principles 2007.

(1) To provide legal guidence for disaster response actors
(2) To establish liability for disaster response activities.
(3) To regulate the provision of financial assistance to the affected states.
(4) To promote accountability for disaster response activities
Options :

92090621453. 1
92090621454. 2
92090621455. 3
92090621456. 4

Question Number : 64 Question Id : 9209065426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SieRigra smae sgfekan fafd, fram g Rigid, 2007 &1 w1 Igwa 82

(1) 31U ffekar wifar & forg faftres fesn-Fdw uem &=
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Options :

92090621453. 1
92090621454. 2
92090621455. 3
92090621456. 4

Question Number : 65 Question Id : 9209065427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a recommended practice under the international health
regulations (2005) for countries to prevent the spread of disaster except emergency situations

(1) Quarantine (2) Vacination
(3) Travel restrictions {4} treatment of infected individuals
Options :

92090621457. 1
92090621458. 2
92090621459. 3
92090621460. 4

Question Number : 65 Question Id : 9209065427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) Ry () Sldrd
(3) TET iy (4) Heblid oafdadl 1 IUEIR
Options :

92090621457. 1
92090621458. 2
92090621459. 3
92090621460. 4

Question Number : 66 Question Id : 9209065428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) ; Radiological dizsasters involve release of radiation from non-nuclear source

Reasons (R) : Nuclear disasters involve release of radiations from nuclear source

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

Options :

92090621461. 1
92090621462. 2
92090621463. 3
92090621464. 4

Question Number : 66 Question Id : 9209065428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hia &1 FYF QU U & U Sifi@HYA (Assertion A) & U H ffEd § o g1 IHD HRU
(Reason R) F&EY T

SfHPUF A - ?Wmm:ﬁqﬁﬁaﬁﬂ?qﬁaﬁa@ﬂ g fafeeur e wfaa
|

PRUR : AT sMueHT Afie g | Tfveg gid I fafesyo Fea miia g
JIWIT HYH & e H, A1 U 0 fasei 1 9 9t IR &1 994 Sifei

(1) A SRREA THE MR, A B Tel ABAT &

2) ASIRRIA THE AfBTR A el RSN A8l &
3) ATAE APAR AR

4) ASTITEIE APIRIIE

Options :



92090621461. 1
92090621462. 2
92090621463. 3
92090621464. 4

Question Number : 67 Question Id : 9209065429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Heason (R).

Assertion (A) :  Disaster management Act, 2005 envisages the provision for implementing

all the disaster management activities of India.

Reasons (R) : India is the signatory of sendai framework of action 2015-30 to implement

its agenda in the country

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3 (A) is correct but (R) is not correct
(4) (A) is not correct but (K) is correct
Options :

92090621465. 1
92090621466. 2
92090621467. 3
92090621468. 4

Question Number : 67 Question Id : 9209065429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 31 YA f3U U § U HUHYA (Assertion A) B ®U  H fafEd § ol U IS BRUI
(Reason R) & ®Y H:

AHPYA A UG UdyA JHESFHTH 2005 # 4R H §HE 3MUcl UseH fhareanl &
forar-ag+ g WAyl W &9 fean @ g

HRUIR : HRd, Y33 hHdD 31 TRF 2015-30 I SAYH! S0 H @R A & g,
39 PI GEAER Hedl g

I HYF & 3l |, A1 iU 7 fahedl # ¥ Fel IR &1 994 Sifoe
(1)  ASIRREH T8l € SRR, A I el T\ &

(2) ARREH FEI§, ABAR, A B HEl T TS &

(3) AT AfFIRTS Tl

(4 ATGTNE APTRIE

Options :

92090621465. 1
92090621466. 2
92090621467. 3
92090621468. 4

Question Number : 68 Question Id : 9209065430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assgertion (A) : Landslides occur mainly due to unstable slopes
Reasons (R) : Slope stabilization technique can mitigate land slides

In the light of the above statements, choose the most appropriate answer from the options

given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct

(4) {A) iz not correct but (K) is correct

Options :



92090621469. 1
92090621470. 2
92090621471. 3
92090621472. 4

Question Number : 68 Question Id : 9209065430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e €1 Py fau MU § Ud SfUFHUA (Assertion A) B T H fafad § @l g1 39D BRI
{(Reason R}a??f_\q f-f;

IMBHYT A :  YRIGH JEIGdT HRR UauT (&) F SR e 2
HRUIR: Uqul fRURIHR -l | YFaa-] &1 I {1 o bl 8l

S $YA & 3Meiie H, A1 U 70 fabedi § 9 Ga9 IugT IR &1 94 Diforg

(1) ASRRIAITHE 3R R A DI Hel A=A &

(2) A SJRRIA TH§, dfb- R A & Hel A 8l &
(3) AYUIE AfBARGEAG

4) A3NFATE 8 AlPIRITE

Options :

92090621469. 1
92090621470. 2
92090621471. 3
92090621472. 4

Question Number : 69 Question Id : 9209065431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements: One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  The oil pollution mainly occurs owing to the shipping industry by tanker
accidents
HReasons (R): The oil pollution can be easily monitored by satellite imagery than any

other technique.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3 {(A) is correct but (R) is not correct
(4) {A) 18 not correct but (K) is correct
Options :

92090621473. 1
92090621474. 2
92090621475. 3
92090621476. 4

Question Number : 69 Question Id : 9209065431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i <1 FYA U MU § T SifHBYA (Assertion A) F FU H foRad g o @RI 39S HRUI
(Reason R) F &Y H:

HUBYAA ;I UGHY JEIGAT SEToRT! I H ¢hR gue13f & BRI gidl o

HRUIR : ad uguul &t Bl s da-iie @1 e Iude fdardel gRT Wadagds
R &1 & gl B

IS HYA & 3fald |, I {8 710 [deedi § | "l 3 &1 994 $ifow

(1) ASRRIFATTAE 3R R, A DI el TAT S

(2) ASRRTHA THE, AfBTR A B HEl AT Tl &
(3) AYUIE ABIRTAE

4) ASNTITEE APTIRITR

Options :

92090621473. 1
92090621474. 2
92090621475. 3
92090621476. 4

Question Number : 70 Question Id : 9209065432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Disaster preparedness and disaster mitigation help in reducing the damage
and loss caused due to disasters.

Reasons (R) : response and recovery help the affected people and stop the disaster from

OCCurring again.

In the light of the ahove statements, chonse the maost appropriate answer from the options

given below :

(1)
(2)
(3)
(4)

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(A) 1s correct but (R) is not correct

(A) 18 not correct but (R) is correct

92090621477. 1
92090621478. 2
92090621479. 3
92090621480. 4

Question Number : 70 Question Id : 9209065432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 €1 Hy fou MU € UH SfHFHYUA (Assertion A) B ¥ H fafad & il g1 ISP BRI
(Reason R) F &Y H;

MY A :  3MUST U 9 MUl i & ruereii & SR g aral &fd g g1 &1
&H FIA H gedl fHadi 8|

HRUIR : 3 9 YasH ¥ yHIfdd il St Herdl gidl & SR 399 Sugrsdi &
GRIGR &1 AT o Febvell ¢ |

S $YH & el H, A1 U 7 fabedi § 9 9a8 IugF IR &1 94 Difow

(1) ASJRRIATIAE 3R, APl el A=A &

(2) A SIRRTHI G, AP R, A B TE TN AT &
(3) AYIE AMHIR AT

(4) ASNTITEE APIRIATR

Options :

92090621477. 1
92090621478. 2
92090621479. 3
92090621480. 4

Question Number : 71 Question Id : 9209065433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(ziven below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  The place of origin of Earthguake below the surface is called focus
Reasons (R) : The point on the surface vertically above the focus is called Epicentre of the
earthquake

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) iz not correct

(4) {A) is not correct but () is correct

Options :



92090621481. 1
92090621482. 2
92090621483. 3
92090621484. 4

Question Number : 71 Question Id : 9209065433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& €1 $u fau MU § U SMfHBYUA (Assertion A) F T H fafad & O g IS HRUI
(Reason R) F &Y ¥

APYTA :  Ydd & 1 YHU &1 IR & V[ & ey del Al g
HRUIR: HIhd A I TR W SHR Ydd fdg B Y&bd $1 3= Hel 91l g
I HYH & 3frdies #, A iU MU fabedi 7 9 998 Iugad IR &1 994 IS

(1) ASRREH UGl € 3R, A DI Hel AT &

(2) A SRRTA TSI E, AfFBA R A T el ARSI T &
(3) AUEE APTRAS TSR

(4) AUETIE ABTRILE

Options :

92090621481. 1
92090621482. 2
92090621483. 3
92090621484. 4

Question Number : 72 Question Id : 9209065434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Asgertion (A) ; The coastal erosion is severe in kerala and is more than any other state

Reasons (R) : The coastal prevented by structural measures such as sea walls.tetrapods,

and grovnes etc.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (R) is not correct

i(4) (A) is not correct but (R) is correct

Options :

92090621485. 1
92090621486. 2
92090621487. 3
92090621488. 4

Question Number : 72 Question Id : 9209065434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 g1 oy f3U U § TP HfHYA (Assertion A) B ®U  H fafed § @ U 3D HRU
(Reason R) F &Y H:

HUBYUT A : T &R0 FA | A § 3R fodt o Iy & |Iel gl

HRUIR : TN &R0 HI GG SAR], Cerrs] d ArhY e SEIeTd Ui gRT guiad
PT o GHd B |

JURIR HYH & 3fedle H, 9 AU 17 fabedl # 9 a8 Iugar I &1 99 Difelt

(1) ASRRIATTITE 3R R, A I Uel A=A &

(2) ASIRRGH TAE, AfBTR A DI el RS Tel &
(3) AYIE APARNEIR

(4) ASNIITE 8 ABPIRITR

Options :



92090621485. 1
92090621486. 2
92090621487. 3
92090621488. 4

Question Number : 73 Question Id : 9209065435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the step by step preventive safety measures during an earthquake

(A) Cover vour head to prevent being hit by falling obhjects
(B Stay inside
() Drop under furniture such as table or bed or anty solid furniture

(I Hold onto the object that you are under so that you remain covered

Choose the correct answer from the options given below :

(1) (C), (A), (B), (D)
(2) (B), (C), (A), (D)
(3) (A). (B), (D), (C)
(4) (D), (A), (C), (B)

Options :

92090621489. 1
92090621490. 2
92090621491. 3
92090621492. 4

Question Number : 73 Question Id : 9209065435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y& F aRA AR Y& UM &1 Uel HHHUR oafed Sifo:
A, FRAGTER a¥gsfi @ 9ic @7F ¥ 999 & fae o @1 g difor)
B. HiawfRul

C. T 3udl YaT 3Ydl 3= [l goiad B-er & -d g9 S1gu|
D. MY 5/ 3% & -1 & 34 Udha IE dlid 3MYdh SR HaR G|
A few e faseat # € wEt IR &1 984 Fifoi

(M CABD
(2) B.C,AD
(3) A B D,C
(4 DACB
Options :

92090621489. 1
92090621490. 2
92090621491. 3
92090621492. 4

Question Number : 74 Question Id : 9209065436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in hiriarchial position bhased on their position of power at executing
disaster management activities in India

(A) NDMA
(B) SDMA
() Ministry of home affairs
(D) DDMA

Choose the correct answer from the options given below :

(1) (D) (B), (4), (C)
(2) (B), (O, D), A)
(3)  (O). (A), (B), (D)
(4)  (A), (D), (C), (B)

Options :

92090621493. 1
92090621494. 2
92090621495. 3



92090621496. 4

Question Number : 74 Question Id : 9209065436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofefaa &1 Wra ® smuer ydy= fobar samdl & e § 399! ufdd & efiga & snur
R YIehiid ¥U I Faieyd i ;

A TASITAT
B. UUSITHU
C. g A
D. SISITHT
1 fau 0 fasreal # ¥ WEl IR &1 984 Fifo

(1) D,BAC
() BCDA
(3) CABD
@4 ADCB

Options :

92090621493. 1
92090621494. 2
92090621495. 3
92090621496. 4

Question Number : 75 Question Id : 9209065437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the preventive measures on priority during flood

(A)
(B)
(C)
(D)

Do not walk through waterand drive in flooded areas
Turn off utilities/ switch
Listen to radios/ TV, get correct information and obhey orders of the government

secure vor home move essentials to upper floor and shift to a safer place

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A), (D), (B), (C)
(B), (C), (&), (D)
(C), (B), (D), (A)
(D), (A), (C), (B)

Options :

92090621497. 1
92090621498. 2
92090621499. 3
92090621500. 4

Question Number : 75 Question Id : 9209065437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & anH Agfafad FarRe Surdl & wufiea & onuR W aafyd Sifeu:

A
B.
G

D.

ol H 9 dcl d d1gU%d &3 | a1 9 Iang
Iuyarl arsii gfefrdte)/faa 1 dg s d
&Tl/ETdl B g, Tl L1 U B d TIBRY ST b1 rei HL

SO TR 1 P& HY, SMaxad FTH Sl FU dd@ W UG ¢ 9 i ®1 R Id
|

e feu o fasedi § O 9El IR &1 994 Hifeid :

() ADBC

(2) B.CAD

(3) C.B,D A

(4) D.ACB
Options :

92090621497. 1



92090621498. 2
92090621499. 3
92090621500. 4

Question Number : 76 Question Id : 9209065438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of cyvclones chronologically in ascending order

(A) Cyclone 'FANT of 2019

(B Cyclone YAAS' of 2021

() Cyeclone ‘ASANT of 2022
(D) Cyclone 'AMPHAN' of 2020

Choose the correct answer from the options given below :

(1) (D), (A), (C), (B)
(2) (A), (D), (B), (C)
(3 (B, (0), (4), D)
(4) (C), (B). (D), (A)
Options :
92090621501. 1
92090621502. 2
92090621503. 3
92090621504. 4

Question Number : 76 Question Id : 9209065438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad awardl $1 3% SHIebHTaR RIS H 7H @I -
A. 2019 &1 IehdTd BT (FANI)

B. 2021 o1 Iehdld UM’ (YAAS)

C. 2022 %1 Hehdld '3l (ASANI)

D. 2020 &1 Thdld '3FET (AMPHAN)

it faw 71e faspeul # @ |el 3T’ &1 904 Sifee -

(1) D,ACB
(2) A DBC
(3) B.CAD

(4) D,B DA

Options :

92090621501. 1
92090621502. 2
92090621503. 3
92090621504. 4

Question Number : 77 Question Id : 9209065439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which are the fragile ecosystem?

(A) Desert

(B) Ocean

(C) Wetlands
(D) Small Island

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)

(2) (B). (C)

(3) (A), (C), (D)

(4) (D)
Options :

92090621505. 1
92090621506. 2
92090621507. 3
92090621508. 4



Question Number : 77 Question Id : 9209065439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 4 B -3 WIR Ghoge) TR 3 82
A TERE

B. WENIR
C. oM y#A
D. ®Blcgd
1= fau U faseel # 9 Wel IR &1 904 SHife -

(1) A B CD
(2} B, C

(3) ACD
(4 D

Options :

92090621505. 1
92090621506. 2
92090621507. 3
92090621508. 4

Question Number : 78 Question Id : 9209065440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The reason for Ecosystem vulnerabihity are:

(A) Deforestation
(B) Urbanisation

() Climate change
(D) Pollution

Choose the correct answer from the options given below :
(1) (A), (C)

2 (©

(3) (B), (C), (D)

(4) (A), (B), (C), (D)

Options :

92090621509. 1
92090621510. 2
92090621511. 3
92090621512. 4

Question Number : 78 Question Id : 9209065440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uitfufeet da Vel & HH-$1H ¥ HRU &2
A AddiE

B. NG
C. Gddrg uRdadd

D. UgHU
e fau 7T fasedi @ | 98t IR &1 9894 Difee ;

(1) A, C

(2) 2

(3) B,.C.D
(4) ABCD

Options :
92090621509. 1
92090621510. 2



92090621511. 3
92090621512. 4

Question Number : 79 Question Id : 9209065441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The major carbon sinks are

(A) EXOSPHERE
(B) LITHOSPHERE
(C) BIOSPHERE
(D) ATMOSHERE

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D)
2 (B0, D
(3) (C), (B), (D)
(4) (D), (B), (C)

Options :

92090621513. 1
92090621514. 2
92090621515. 3
92090621516. 4

Question Number : 79 Question Id : 9209065441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A digHsd
B. W®EHSA
C. CigHsd

D. dlgHSd
42 fau v faedi & | 9l IR &1 954 Fifeie

(1 A B CD
(2) B, C.D
(3) ED
(4) D B C

Options :

92090621513. 1
92090621514. 2
92090621515. 3
92090621516. 4

Question Number : 80 Question Id : 9209065442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  The basic responsibility in india to undertake resue, relief and
rehabilitation measures in event of a natural disaster lies with state

gov't.

Statement [1 : In the event of disaster union govt provides only supportive role in

termof physical and financial resource to state govt's.

In the light of the above statements, choose the correct answer from the options given below ;

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement 11 is folsce
(4) Statement I is false but Statement I1 is true

Options :

92090621517. 1
92090621518. 2
92090621519. 3
92090621520. 4

Question Number : 80 Question Id : 9209065442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HYIRUME
®YF | . HRa J & wipfae suer & gfed g9 W 949, Agd 9 gAaTy et 3urg &

& g IR I59 WHR H1 erdl g

FYT I MU B fRUfd # T WHR & Hifde 9 fadi dureA Iudasl & | I

WPHR B had HFTSHRT Yt gidt 2|

IUiad HYA & fdld H, A EU 71U [dbedi § € "t 3T &1 994 Sifelw

(1)
(2)
(3)
(4)

HYF | 3R 1 I T &

HYF | 3R 1 ST ST &

HYF | A B, Afch HYF 11 3FT 8
HY | A g, AP FYT 1 T 8

Options :

92090621517. 1
92090621518. 2
92090621519. 3
92090621520. 4

Question Number : 81 Question Id : 9209065443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  Disaster risk reduction is only effective if it is intergrated into broad

development planning.

Statement I :  Disaster risk reduction solely focus on physical and environment aspects

of disasters

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true

(2) Both Statement I and Statement 1T are false

(3 Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I1 is true
Options :

92090621521. 1
92090621522. 2
92090621523. 3
92090621524. 4

Question Number : 81 Question Id : 9209065443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS FERUmE:

HUYA| @mmmmmm%maﬁﬁm gIe1 & 91y Udbldd
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|

IR HYA & 3fdld |, A1 S0 710 [decdl #§ 9 9t I 904 Sivie

(1) USRI aH ue &
(2) YA SR 11 AT T §
(3) ®YTI Sl 8, Al B 11 Tad &
(4) Y| T B, Wik HYE 1| UEl §

Options :

92090621521. 1
92090621522. 2
92090621523. 3
92090621524. 4

Question Number : 82 Question Id : 9209065444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(GGiven below are two statements :

Statement I :  Those areas where annual occurence of floods is approximately 1% are

called as high risk areas.

Statement 1 : Low risk areas are those where annual owerance of flood is

approximately 25%.

In the light of the above statements, choose the correct answer from the options given helow :

(1) Bnth Statement T and Statement [T are true

(2) Both Statement I and Statement I are false

(3 Statement [ is true but Statement 11 is false
(4) Statement I is false but Statement II is true
Options :

92090621525. 1
92090621526. 2
92090621527. 3
92090621528. 4

Question Number : 82 Question Id : 9209065444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BYT| . WTHI 1% dIfte a1 9fed g1 a1d & &1 I STy & gl SIdl g
&Y 1. e ofEw &3 3 &3 81 § 81 a1 33 &1 a1ftfd & a1 25% gidi 21
IR HYA & 3eireh H, [l 4T 0 fab el # 4 Ugl Il 90 Sifey

(1) HYFIAR IS I8
(2)  HYFI R I SFT 3T &
(3) YT HA g, Al HYA 11 I E
(4) YT HET g, Ab HUA I I B

Options :
92090621525. 1



92090621526. 2
92090621527. 3
92090621528. 4

Question Number : 83 Question Id : 9209065445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ :  Chemical, Biological, Radiological and Nuclear (CBEN) disaster are rare

and unlikely to our.,

Statement 11 : A Chemical, Biological. radiological and nuclear disaster have serious

impact on human health and environment.

In the light of the above statements, choose the correct answer from the options given helow :

(1) Both Statement I and Statement [1 are true

(2) Both Statement I and Statement [ are false

(3) Statement [ is true but Statement 11 is false
(1) Statement [ is false but Statement I is true
Options :

92090621529. 1
92090621530. 2
92090621531. 3
92090621532. 4

Question Number : 83 Question Id : 9209065445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS e mE:
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TR g4 gaT g

JWRIFd DY & 3clld |, HId S0 770 [dwedl & | el 3 &1 994 $ifeig

(1)  FYTI RIS TIE

(2) HYFI SR ISH 3 EA &

(3) FYTIHAE, Ui HYF 1 I &
(4) HYF | ATH g, AT YA TA &

Options :

92090621529. 1
92090621530. 2
92090621531. 3
92090621532. 4

Question Number : 84 Question Id : 9209065446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Relief and rehabilitation are important and intergral components of

disaster recovery.
Statement I1 :  Relief and rehabilitation efforts should only be provided by state and
union govt's.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement [ are incorrect
(3) Statement [ is true but Statement Il is incorrect

{4) Statement [ is false but Statement I1 is correct



Options :

92090621533. 1
92090621534. 2
92090621535. 3
92090621536. 4

Question Number : 84 Question Id : 9209065446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUF| :  Agd d YA IS B $ Aoyl 9 v o1 g
®YF Il :  gd d AT U HIF U9l d d5 SPR gRI 8l [t o =iz
JWRI By & 3Teile H, i 4T MU fahedl # 4 el I &1 90 Sifely

(1) Y1 3R 1 AT gl §
(2)  ®YA| SR I SHI Ted 8
(3) DY FEl g, dihd YA 11 TeAd ©
(4) ®YFITTAd 8, Afchd YA 1| H8l &

Options :

92090621533. 1
92090621534. 2
92090621535. 3
92090621536. 4

Question Number : 85 Question Id : 9209065447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement [ :  Artificial intelligence is still in its experimental stage and not ready for

practical applications.

Statement I1 : Artificial intelligence can help in early warning of disaster and provide

real time disaster management solutions.

In the light of the above statements, choozse the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement [l are incorrect

(3) Statement I is true but Statement I is incorrect

i(4) Statement [ is false but Statement I1 is correct
Options :

92090621537. 1
92090621538. 2
92090621539. 3
92090621540. 4

Question Number : 85 Question Id : 9209065447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FHuARUmE
HUA| ﬁng@&rﬁmmﬁrﬁamﬁéﬁ%aﬁwﬁwm ST & ferg

Y. HET §fG SMYSISH DI gd (3fch) Fdia-t H Heg B bl ¢ AR diefiid el
W& AT USH bl |

IR $Y9 & 3eile H, 1 AU 70 fasedi § 9 968 Iugdd Ik &1 944 Difog

(1) B RN TR
(2) YA SR 1 S Tad @
(3) U1 FE B, Alibd YA 11 Ted B
(4) YA TTAd 8, dichd HYA 11 98l &

Options :



92090621537. 1
92090621538. 2
92090621539. 3
92090621540. 4

Question Number : 86 Question Id : 9209065448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Physical support in the after math of a disaster is not an important

component of disaster response.

Statement 11 :  Trauma and stress management is only necessary for disaster survivors

who have experienced physical injuries.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement Il are incorrect

(3) Statement [ is true but Statement 11 is incorrect

i(4) Statement [ is false but Statement I1 is correct
Options :

92090621541. 1
92090621542. 2
92090621543. 3
92090621544. 4

Question Number : 86 Question Id : 9209065448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(2)
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Options :

92090621541. 1
92090621542. 2
92090621543. 3
92090621544. 4

Question
Question

Number : 87 Question Id : 9209065449 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following sustainible development goals focus on disaster risk reduction

(A) Goal-1
(B) Goal-2
(0 Goal-13
(I Goal-11
(E) (Goal-8

Choose

the correct answer from the options given below :

(1) (A), (B), (E) only
(2) (B), (E), (D) only
(3) (A), (B), (C) only
{4) (E) and (B) only

Options :
92090621
92090621
92090621
92090621

545.1
546.2
547.3
548. 4



Question Number : 87 Question Id : 9209065449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & @ f5-f Tad [9em dedi &1 By 39l S TgHvl )R 87
@& 1

>

B. W&2
C. W&h13
D. &1
E d&s8
1= fau T fashedl § 9§ Wl 3R &1 994 Sife -

(1) dd A, B E
(2) ddB, ESRD
(3) &ddABCD
(4) &dd E3NB

Options :

92090621545. 1
92090621546. 2
92090621547. 3
92090621548. 4

Question Number : 88 Question Id : 9209065450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is true about NIDM.

(A) NIDM prepers national disaster management plan.
(B) NIDM makes rules and policies related to disaster manangement
(C) NIDM is mainly responsible for capeity building in disaster management

(D) NIDM prepares study material for various courses on disaster management.

Choose the correct answer from the options given below :
(1) (A) and (C) only

(2) (C) and (D) only

(3) (A) and (B) only

(4) (A), (B), (C), (D) only

Options :

92090621549. 1
92090621550. 2
92090621551. 3
92090621552 4

Question Number : 88 Question Id : 9209065450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH 315 31 UA & ey | e F 9 o/ 9al 82

A TF 3M1S ST UH AP 3MUST Uy ISl R S g

B. UA 31$ 310X 3Muel Yy ¥ Yaifda Faw g Hifagl s9rdi 21

C. T3S S un 39S ueyH F gE: e i & fo SRerd 81

D. UA 35 81 UH 3Yel e Haei fafirs qrdasmal & fo1g sieggd ansll dar &l g
e fou 7Y fashedl # 9 Wl IR Pl T8 S -

(1) FAAASRC
(2) HIACIRD
(3) FAAA B

(4) &dd A B,C,D

Options :
92090621549. 1
92090621550. 2



92090621551. 3
92090621552. 4

Question Number : 89 Question Id : 9209065451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is example of non- structural mitigation measure for disaster risk
reduction.

(A) Building sea walls

(B) Retrofitting buildings

() Risk reduction policies

(D) Land use managment

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (C) and (D) only
(3) (B) and (C) only
() (A), (B), (C).and (D)only

Options :

92090621553. 1
92090621554. 2
92090621555. 3
92090621556. 4

Question Number : 89 Question Id : 9209065451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) HIdASRB
2) HIACIRD
(3) FAABIARC

(4 AB,C3RD

Options :

92090621553. 1
92090621554. 2
92090621555. 3
92090621556. 4

Question Number : 90 Question Id : 9209065452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is on example of post disaster response measure.

(A) develope evacuation plans

(B Conducting disaster drills

(C) providing emergency sheltre

(I providing specific aid to maintain life and health

(E) mapping vulnrable areas.

Choose the correct answer from the options given below :

(1) (A), (B), (C), (E). (D) only
(2) (A) and (B) only
(3 (C) and (D) only
(4) (A) and (E) only

Options :
92090621557. 1



92090621558. 2
92090621559. 3
92090621560. 4

Question Number : 90 Question Id : 9209065452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFroffad # A S-$1F uer-uyd sHfpaT Iurdl % IS &7
A. NI ] g (SAFURA) DI A 1

B.  SUGT ¥R HIH

C. SfMUTd 313 UgH @Al

D. ©ile 9 TRy §1U 18- & forg fafry gerdn var &1
E. 3R&d &3 &1 AFfEAST S

A fau 7o fasedl # ¥ WEl IR &1 98 ST

(1) A B CD E

(2) FAAA 3B

(3) ®HFACSIRD

4) HAAANRE
Options :

92090621557. 1
92090621558. 2
92090621559. 3
92090621560. 4

Question Number : 91 Question Id : 9209065453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is incorrect about Build Back Better (BBB) principle

(A) Rebuilding to pre-disaster normal
(B) Integrating disaster risk reduction into developmental measures.
() To build more sustainible safe and resilient community

(I To assese the impact of disaster on built environment.

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2) (A), (B), (C), (D) only

(3 (A) and (D) only

(4) (B). (C), (D) only

Options :

92090621561. 1
92090621562. 2
92090621563. 3
92090621564. 4

Question Number : 91 Question Id : 9209065453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fite 9% §ex (@MUY Sea) Fmi) Rigia & ddy & o & 3 s ad a8 82
A.  SUEI gd & HIHRG TR H1 GAHHT]

B. 3HIUSI GIRAH THHRU Bl [T Wb UMl & WY UDbidhd HAl

C. ¥ GURUIY, JRIET 9 dreEsiia SHerE &1 Aaf

D. Affd ufaw w simuer g &1 sireaA

1 feu o faeedi § 9§ 9el IR &1 994 Bifer -

(1) FaaB3ARC
(2) PadA B C3RD
(3) PHAAA3RD

(4) HdAB, CD3IRE

Options :

92090621561. 1
92090621562. 2
92090621563. 3



92090621564. 4

Question Number : 92 Question Id : 9209065454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about effect of climate change on coastal area

(A) Reduced oxygen levels

(B) Inereased coastal flooding and erosion
(C) increased coral growth.,
(I sea level rise

Choose the correct answer from the options given below :

(1) (B) and (D) only
(2) (A) and (C) only
(3) (B) and (A) only
(4) (A) (B), (C), (D) only

Options :

92090621565. 1
92090621566. 2
92090621567. 3
92090621568. 4

Question Number : 92 Question Id : 9209065454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) aaABARD
(2) FAAAIRC
(3) HAABIARA
(4) HdAA, B C D

Options :

92090621565. 1
92090621566. 2
92090621567. 3
92090621568. 4

Question Number : 93 Question Id : 9209065455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about physical rehabilitation

(A) Relocation

(B) Physical rehabilitation of infrastructure
(C) Rehabilitation of women, eldely and child
(D) Psyvchological rehabilitation

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) only
(2) (A), (B), (D) only
(3) (A), (B), (C) only
(4) (B). (C). (D) only

Options :

92090621569. 1
92090621570. 2
92090621571. 3
92090621572. 4



Question Number : 93 Question Id : 9209065455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hifties YAata & ddy § g # @ 19 514 1el 82
A UTIEA
B. SURYd TR H1 Hifdd gatg
C. Higasfi, g&i d s &1 gAad

D. WIS gFafy

1= fau U faseul # ¥ gl IR &1 90 DI ;
(1) ddA,BCD

(2) &ddA B D

(3) FddA,B,C

(4) HadB,CD

Options :

92090621569. 1
92090621570. 2
92090621571. 3
92090621572. 4

Question Number : 94 Question Id : 9209065456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List I with List 11 :

List I List IT
(A) Geophysical Hazard (I} Epidemics
(B) Metereological Hazard (II) Landslides
(C) Climatological Hazard (IIT) Cyclones
(D) Biological Hazard (IV) Drought

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(I1I), (C)-(1IV), (D)-(1I)
(2) (A)-(D), (B)-(II), (C)-(IV), (D)-(11I)
(3) (A)-(ID), (B)-(IV), (C)-(I1L), (D)-(D)
(1) (A)-(1I), (B)-(L1I), (C)-(IV). (D)-(I)

Options :

92090621573. 1
92090621574. 2
92090621575. 3
92090621576. 4

Question Number : 94 Question Id : 9209065456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & |y = 11 B A S

- -l
(A) Y-MIfde dabe () e
(B) HIgH Hah Hhe R GERE|
(C) Sicdrg Hedt Hahe () Tehdrd
D) ©ifds dHe (Iv) g@r

2 feu Tt fasedi # 9 9l IR 1 94 DifoIT:

(1 (A=), (B)-(), (C)-(IV), (D)-(1N)
(2) (A=), (B)-(I), (C)-(V), (D)-(1)
(3) (A=), (B)-(IV), (O)-(I), (D)-(1)
(4) (A1), (B)-(n), (C)-(1v), (D)-(1)

Options :
92090621573. 1



92090621574. 2
92090621575. 3
92090621576. 4

Question Number : 95 Question Id : 9209065457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Matceh List T with List 1T :

List I List IT
{A) Chennai Flood (I 2014
(B) Mumbai Flood (I) 2018
(Cy Uttrakhand Flood (I1I) 2015
(D)  Kasmir Flood (IVy 2005

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(ID), (C)-(111), (D)-(T)
(2)  (A)-ID, (B-(ID), (C)-(IV), (D)-(T)
(3)  (A)-(IV), (B)-(D), (C)-(ID), (D)-(II)
(49)  (A)-(IID, (B)-(IV), (C)-(T), (D)-(T)

Options :

92090621577. 1
92090621578. 2
92090621579. 3
92090621580. 4

Question Number : 95 Question Id : 9209065457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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EEECI[ ) 2014
Hes alg Iy 2018
(€ JREs dlg (y 2015
(D) PR G (IV) 2005

42 feu e fasrei & 9 Il IR #1994 ifr;

(1) (A)-(V), (B)-(11), (©)-(), (D)-(1)
(2) (A, (B)-(1), (O)-(1V), (D)-()

(3)  (A)-(V), (B)-(1), (C)-(l), (D)-(I1)
(4) (A=), (B)-(V), (Q)-(). (D)-(1)

Options :

92090621577. 1
92090621578. 2
92090621579. 3
92090621580. 4

Question Number : 96 Question Id : 9209065458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II :

List I List IT
(A) Tempere convention (I) Climate change
(B) Paris Agreement (I) Public health response
(C) Sanitary Regulations (IIT) Disaster risk reduction
(D) Sendai framework (IV) Telecommunication

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(1ID), (C)-(111I), (D)-(I)
(2) (A)-(I1D), (B)-(IV), (CI-EIL (D)-(1I)
(3) (A)-(IV), (B)-(I), (C)-(IT), (D)-(11I)
(4) (A)-(IT), (B)-(D), (C)-(IV), (D)-(11L)

Options :
92090621581. 1
92090621582. 2



92090621583. 3
92090621584. 4

Question Number : 96 Question Id : 9209065458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y g 11 @ e S

- gt -l
(A) CUIR H=aTA () S@aryg uiadd
(B) URY FHIha (i) <P @Ry bl
(€) ¥dwsdl fafas (1) 3HTSIET SIREH TLDHRI
(D) Wss hHadh (V) WHEAR
=i fou U fashedl # 9 Wl IR &1 997 HIIT:
(1) (A)-(IV), (B)-(11), (O)-(l1), (D)-(1)

)-(
(2)  (A)-(), (B)-(IV), (O)-(1). (D)-(1)
(3)  (A)-(V), (B)-(1), (C)-(I1), (D)-(INT)
(4) (A1), B)-(1), (O-(1V), (D)-(I1D)

Options :

92090621581. 1
92090621582. 2
92090621583. 3
92090621584. 4

Question Number : 97 Question Id : 9209065459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List IT
(A) GIS () Wildfires
(B Thermal (I) Topography
(C) Multispectral Imagery (IIT) Flood hazard Zonation
M  TIDAR (TV) Coastal erosinn

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(10), (C)-(D), (D)-(I1I)
2 (A0, (B)-(IV), (C)-(11I), (D)-(I1)
(3 (A, (B)-(D), (C)-(II), (D)-(IV}
(4) (A1), (B)-(I), (C)-(IV), (D)-(1I)

Options :

92090621585. 1
92090621586. 2
92090621587. 3
92090621588. 4

Question Number : 97 Question Id : 9209065459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y g || B e S

-1 =t i
(A) it 3 T () SEEd
(B) Y& () TdrHd
(C) g WaeH Bl () «1¢ Ybhe &HAIH
(D) Td 315 31 TR (v) T eror
I fau e fasedi § | 9El IR &1 98- Sifor:
(1) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I)
(2)  (A)-(), (B)-(IV), (Q)-(Im), (D)-(1)
(3)  (A)-(l), (B)-(1), (C)-(l), (D)-(IV)
(4) (A=, (B)-(I), (C)-(IV), (D)-(I1)

Options :
92090621585. 1
92090621586. 2



92090621587. 3
92090621588. 4

Question Number : 98 Question Id : 9209065460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List IT
{A) Kedernath landslide (I) 1998
(B) Gowhati landslide (IT) 1968
(C) Darjaleeng landslide (I1I) 1948
(D) Malpa landslide (IVy 2013

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(1), (C)-(IT), (D)-(I)
(2) (A)-(I), (B)-(II), (C)-(11D), (D)-(IV)
(3) (A)-(IT), (B)-(1), (C)-(IV), (D)-(11II)
(4) (A)-(IID), (B)-(IV), (C)-(1), (D)-(1I)

Options :

92090621589. 1
92090621590. 2
92090621591. 3
92090621592. 4

Question Number : 98 Question Id : 9209065460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & Ty g 11 B AeE S

-1 I
(A) BERATY YFEAA () 1998
(8) TdIgc! YEaa Iy 1868
(€ eIl y=aaA () 1948
(D) HI YFEa (V) 2013

4 fau 77U fasedi # | 9l IR &1 994 Difre:

(1) (A)-(V), (B)-(1l1), (C)-(IN), (D)-(I)
(2) (A, (B)-(), (C)-(1), (D)-(IV)
(3) (A=), (B)-(1), (O)-(1V). (D)-(lN)
(4) (A0, (B)-(IV), (©)-(1). (D)-(IN)

Options :

92090621589. 1
92090621590. 2
92090621591. 3
92090621592. 4

Question Number : 99 Question Id : 9209065461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List I List II
{(A) Nuclear disaster (I Covid-19
(BY Chemical disaster (II) Bhopal disaster
(C) Biological disaster (III) Savar disaster
(D) industrial disaster (IV) chernobyl disaster

Choose the correct answer from the options given below :

(1) (A)-(II), (B)-(I), (C)-(11D), (D)-(IV)
(2) (A)-(D), (B)-(I1I), (C)-(1I), (D)-(IV)
(:3) (A)-(IV). (B)-(I1), (C)-(I). (D)-(I1I)
(1) (A)-(IIT), (B)-(II), (C)-(D), (D)-(IV)

Options :
92090621593. 1



92090621594. 2
92090621595. 3
92090621596. 4

Question Number : 99 Question Id : 9209065461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y g 11 B e B

gl gt -
(a) AIfYEE el () HIds-19
(B) IMHMME 3MTUal (I MO 3Mgel
(C) wifad smuar (1) FTER TSl
(D) STERIE 3magr (v) =Hiaa e

2 fau v fasedi 9 981 IR 1 9G4 DI

(1 (A=), B)-(1), (C)-(1), (D)-(IV)
(2)  (A)-(), (B)-(I), (C)-(I), (D)-(IV)
(3)  (A)-(V), (B)-(1), (C)-(1). (D)-(111)
(4) (A=), (B)-(In, (Q-), (D)-(V)

Options :

92090621593. 1
92090621594. 2
92090621595. 3
92090621596. 4

Question Number : 100 Question Id : 9209065462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List IT
(A) LIDAR (I)  Topography
(By INSAR (I) Cyclones
(Cy DEM-SETM (I} Ground deformation
(D) INSAT (IV) Forest areas

Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(ID), (C)-(IV), (D)-(T)
(2) (A)-(ID), (B)-(D), (C)-(I1D), (D)-(IV)
(3) (A)-(IV), (B)-(11L), (C)-(T), (D)-(1T)
(4) (A)-(D), (B)-(IV), (C)-(11I), (D)-(II)

Options :

92090621597. 1
92090621598. 2
92090621599. 3
92090621600. 4

Question Number : 100 Question Id : 9209065462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & 1Y G 11 B e Sifee

-1 Tt -
(A) T3 ST IR () TP
(B) M TATHT 3R () =shard
(© SITTH-THARATH (I - faEyor
(D) METATHTUH G (V) a8

1= feu 7o fawedi § 9§ 9l I &1 944 DIIg:

(1) (A=), (B)-(), (C)-(IV), (D)-(1)
(2) (A=), (B)-(1). (C)-(1), (D)-(IV)
(3) (A=), (B)-(11), (O)-(1). (D)-(IN)
4) (A=), (B)-(V), (O)-(m), (D)-(1N)

Options :
92090621597. 1
92090621598. 2



92090621599. 3
92090621600. 4



